202295 A5 e IE(5UiAR) 8418 Wk
Z4 E |H 31 A

O 9% A13232%, 20229 MSSHYA| CHLE=I IS (SLHRAEHAF)
A= WP 20224 59 2569 ASSHAACRZRE ASE

B 4NN FAANSALANI Y RIS AH 2l A=

-

I.7|=2/4s HEe &8 HE

1. H2to|w
7F. 2021 FAIAE Aol wE diXF 5 2For 20224 g H=
FHEHAR) ZIFw&A8E AEAY e AFLE Fho] FxHoh

20% = x3sto] M= E.

. ololl rAMAXGHA AFBA R, A=) FAH wheh 20224
AeEA delR A FGEHREAL) S8A1E Al el AL

HA 23] oA S vbaz; 9



2. LS
7}, AUE A ulgl A1 T X 3], FHe] dx 3,07 7wut
Aol A 4,223 02 1,146W8 Fhda, ek, Fel
2 0%UelA 6UTALE £EA S
- dIXF 34 ¢ EF AR EA] A AGTEAI L v ZH P (600,
AnkAul 2 7B m PR (528, ol AFY F
7R (18wuEY)
- 718}, AR 9dA] MICE F5vHAY 9 A% #HeizH (6ukd)
L}, ololl wgl X EAIZAY TdIXF, (AMFEF) FHeo] dx 1 ,454unk o
A 2. 606N 1, 152WuHY Srlsle] 79.2% HAE S
b, 59 - AEAIE WA
SIPER SEZEP
(991 1 W) (99 1 )
=. o % ¥ 3 z 7 N} oz ¥ 3 z 7
T E W ®) B-A T E W ®) (B-A
4 o # A 4137 5289 1152 XN & # A 4137 5289 1,152
¥ ¢ 2| 1,000/ 1,000 - H 8 x4 _
At o " 2,680 2,680
o & 2 ¢ 60 60 -
1 g 29 0 6 s| 71 = & 3 3 B
o A 2 3 ¢ 3,077 4,223 1,146 of x| = 1,454 2,606 1,152




[

N
ol

Ra

o]
2]

d oqAs 11

JAEF AXF3F (119 4,600%)ek 714 (600

+

dAFI Asste] AEAYT AXNF(11Y

4

2 AEAE s A 7]

[e]
=

3]

,S}_l

Z3psto] 715

o 10%9 2%

A AzFY

N
H

AUE 7157244l vl sdAIE S diXs S (dA=)

wHol WHEEol AEAT dAXF(HA=AH)

A
S
iz

B
1

TO
|
ot

10
V)

N
ojp
=

Hr

r=e)

3]
=

7ol siR=H Apel3] o] 2] Ao

EX s

=
=

ol AHFF-52 20%

A}

CH

E3SHS

gs0|=

119 5,200

=
T

A

AEAZHe} 79.2%,

N
H

-

2 el ol uhe} )3le] 2 Ado] e

Ao



=A

=E
=

&= [=(=LH

k=1

3-1> CH

LL
L

¢

il < 2 : N N N :
> o o o
o O] N ~ ~ ~
N I
o 2
n —f ! o\ o\ o\ I
N Lo Lo ife)
I — — — —
(e [ — — —
I
Ko &
dosd | X o 0 0 0 o
® Ioe) o o o
o} o ! o o O O
om0 ~ ~ ~ ~
re or
N T —
I o ™M ™M ™M ™
'5a) Ioe) o o g}
— O < < <
<C < @\ — — —
pu
ue
5 X o oy ™ T
™ ®O ™
< N T %o
e Ny T X (e
oF 0 r — | Torn
= ~— oyl ~
< o mro| P mr
1 ~ Bl i mr mO‘_oa
< ® oy ol _._n_qé ol
_ _
H 2" B = KO 1_,_A|;o -
oF | AW = | N | op
- X " af < T <
— o KO BI oF i %0
Py B N of - RO
< o | A LE S|
=r — | =" — N
D ~ K — ‘UO(
)

=48, @

EXEEEERIEY

-1
jm]

elg=7]

=
K3

gl

D D2022H % A

¥ AR

L=
)

Q ofd]

EIC LR

S

AfATE dXFom Axeto] 71Ee] L2 U9

-5 7= ¥E =g

194 AZAE FHH0m WAt

D2
=

Alg WAkt ZEo] dX|staL,

iR
o

A A, 7]

-
(e}

% “H]

At

kil

v, diXgTe g 7]zfsleo]

oF SR =, @O

TO

)

¥l AT 3ol Az o

b AL AHE n)

]
LA

=2 71A



S ew Hystol

= Al A

1
A

ox

™R
m
oe



